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10.

Frafeew ¥ IW-afSeh FIal doh a3 oTiier &5 § ufeq gRaddl &1 @ifekd Sl
(3| 150 oIk o S

Underline the changes in the field of society and economy from the Rig Vedic to the later Vedic period.
(Answer in 150 words) 10

. Zfeor R H wen 9 wfe & fawE | HE % Ueerdl & ANKH 1 Yok Hifsd|

(S| 150 oI=zi o <ifsd)

Estimate the contribution of Pallavas of Kanchi for the development of art and literature of South India.

(Answer in 150 words) 10

. A RA-G T off S RO WRA B! STEIe Y& g2 U URumEl wl T w i

(W 150 vt o <ifsr)

What were the events that led to the Quit India Movement? Point out its results.

(Answer in 150 words) 10

. GUE WaE % q9EH W ghg o 22 T8 SWhiead =ehardl % [0l i sy geifed il 872

(IW 150 v==l H <)
What is sea surface temperature rise? How does it affect the formation of tropical cyclones?
(Answer in 150 words) 10

. B WEY I qorl § o2 e A gareEl ol ol ofehfties whid €2 fashraeiial Sui @ feufa &

et H gHent fod=m wifsEl (W 150 o=l | <ifSr)
Why do large citites tend to attract more migrants than smaller towns? Discuss in the light of conditions in
developing countries. (Answer in 150 words) 10
_'SIEd Wed' T ufEe @ B2 AR el (W 150 vl ® <o)
What is the phenomenon of ‘Cloudbursts’? Explain. (Answer in 150 words) 10

. SHaEifersTa sia’ (SHImfRe foeX) @t Sauron @21 22 @1 98 g ue feufa &1 it enrer 22 fomr

¥ FaE (3T 150 vl H i)
What is the concept of a ‘demographic winter’? Is the world morning towards such a situation? Elaborate.
(Answer in 150 words) 10

. AfiTer G, oifier fsaerar wd Afec Uil & o9 3 61 T HIF| FwEwET F1 aieedd 3R

FrEtea | ifieh TR Rl eIH | W b eyl 22 (IW 150 w=al # FAfe)
Distinguish between gender equality, gender equity and women's empowerment. What is it important to
take gender concerns into account in programme design and implementation? (Answer in 150 words) 10

. T ISR e qet aell Sfal & st Sfaieidid foere w85 a °9g ®, T siaventden foaret

% 9 H 98 %9 99 2| faee S (W 150 v=&i | S
Intercaste marriages between castes which have socio-economic parity have increased, to some extent, but
this is less true of interreligious marriages. Discuss. (Answer in 150 words) 10
o & gmfser-onfis geal 9 f9ed § TR, R-Thi Gel ud s &= & = fa gr
Tedn gt ST gm? (IW 150 vreal # <)
In dealing with socio-economic issues of development, what kind of collaboration between government,
NGOs and private sector would be most productive? (Answer in 150 words) 10
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20.

“grelifer He™ e wEe fefl Higg e € Afh STRl Hell 9 dRgahell & & § Scbw Sudferl &

Fro 7eft ot 3% 9y T ¥ A A S 21 fewnht wfs (W 250 o=l F o)
“Though the great Cholas are no more yet their name is still remembered with great pride because of their
highest achievements in the domain of art and architecture. Comment. (Answer in 250 words) 15

I Hedl Fel a% Sfad ¢ 5 vem favegs goa: vfad-dqer il 9AC W@ & o @ mn
(I| 250 ==t # <)

How far is it correct to say that the First World War was fought essentially for the preseration of balance of
power? (Answer in 250 words) 15

IRA § FEReY $IR FHER SN & g & o ofe w1 i wifd wel % SuerE of?
(IW 250 vl # o=

How far was the Industial Revolution in England responsible for the decline of hadicrafts and cottage
industries in India? (Answer in 250 words) 15

T S H STt el H R e o W ?) A8 9Rd ki @E-GReN iy guifad S gl 22
(IW 150 wr=af # i)

The groundwater potential of the gangetic valley is on a serious decline. How may it affect the food security

of India? (Answer in 250 words) 15
AR el 3t i SifEfas #=1 €2 3 %9 I [ 2?2 (S| 250 v H s
What are aurora australis and aurora borealis? How are these triggered? (Answer in 250 words) 15

foaeet 71 32 AfFaw! 1 Gl & EuE % &5 § sifumat foaet F|& 3@ Wi @2
(SW 250 wral | <iforr)
What is a twister? Why are the majority of twisters observed in areas around the Gulf of Mexico?
(Answer in 250 words) 15

&5 e 1 22 7 fafged o fFg R foet 22 9ra § e6fig srmear 1 gesn fhan i @2
(3W 250 wral | <iforr)

What is regional disparity? How does it differ from diversity? How Serious is the issue of regional disparity

in India? (Answer in 250 words) 15
THMAT SR G = &t = Afadi & arees, st 9ok sfaa anf 1 dfaem gr aieferd ghrds
HHAE w1 G AT TEl e T 21 feont wif (IW 250 vl # |

Despite Comprehensive policies for equity and social justice, underprivileged sections are not yet getting
the full benefits of affirmative action envisaged by the Constitution. Comment. (Answer in 250 words) 15

Aefiertor 3 fafe=r ol 1 e, a1 ud sifenza Afeenst gr ved yarm ° gfg w1 21 39 wafd A
ITH! AR @asd Td URAR % 1Y HaE W F Y9E Sl 872 (S 250 vr=a) o SfSr)

Globalization has increased urban migration by skilled, young, unmarried women from various classes.
How has this trend impacted upon their personal freedom and relationship with family?
(Answer in 250 words) 15

30 AT 1 ST faveluul wifsd o wRa i wiesfas fafawa i amses-snfefs st

% I TH TR TEEA 2 (IW 250 vl H i)
Critically analyse the proposition that there is a high correlation between India's cultural diversities and
socio-economic marginalities. (Answer in 250 words) 15
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